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01 A& HI 200,000 0 200,000
OUE= EYAAE U =K 8
200,000,000& 14 200,000
MEAE BHG (s YSA/AY - ME) 20,496,239 6,610,165 13,886,074
= 1,259,334
X 4,498,679
< 8,696,187
s 6,042,039
MgFE JlgtEE 2,705,264 6,610,165 A 3,904,901
= 60,448
Xl 1,698,679
< 228,923
[ia 717,214
MBEAAL 4 L 22 (XHA) 20,000 295,305 A 275,305
401 AIEHI L 2] 20,000 197,080 A 177,080
01 A& Bl 20,000 196,000 A 176,000
OMEMEIOIS T2 Al B
10,000, 0003 *2H A~ 20,000
g AR ALY 82,407 50,920 31,487
402 RIZEXt20l ™ 82,407 50,920 31,487
01 ATt EAEEX 28,800 0 28,800
O8USR X&a2H M X
30,000& *1,920ha*50% 28,800
02 2I2HCH & A S HI 53,607 50,920 2,687
oYL e3¢ HM dMXJ 27,9203 x1,920ha 53,607
AT AA 855,258 775,850 79,408
Xl 598,679
< 128,289
s 128,290
101 14 dl 23,397 15,610 7,787
Xl 16,377
< 3,510
[ia 3,510
04 JIZHHZ22XRHEE S 23,397 15,610 7,787
OXNE3I A AL 23,397
— g agA 7,799,000& 3 23,397
X 16,377
< 3,510
s 3,510
401 AIEHI L 20HEI 831,861 760,240 71,621
Xl 582,302




SN A =T
Ha: NPAY BES(SPHSSL/YY - 4E)
Sl NYAY JlBEE CERED
o
SA - BAEN) - NRAY - LS 0l &F 24 e HRE2
= 124,779
2 124,780
01 Al Hl 808,964 739,534 69,430
OXIS 8l H A 808,964
— QS A (2.0kn) 408,835, 0002 408,835
X 306,244
= 65,624
2 36,967
— Xl = (2.0kn) 250,780,0002 250,780
X 188,984
< 40,496
2 21,300
— QPR INE(1.0kn) 60,046,000 60,046
X 46,627
= 9,992
2 3,427
— YT AAIEIE(2.0kn)
437,492, 0002 +3. 94% 17,238
— YT AAIENE(2.0kn)
269,976, 0002 *4.33% 11,690
— UEPENEY AAILNEE(1.0kn)
66,611,00021 *5.933% 3,953
— AFE & HI(1.0kn) 2,781,0002 12,781
X 8,947
< 1,917
2 1,917
— 2% & % (10kn) 40,788,00024 40,788
X 31,500
< 6,750
2 2,538
— YZ=E4 HAEE(10kn)
45,000,0002 *6. 34% 2,853
02 22l 17,203 15,872 1,331
OXIS 8l HA Y 17,203
— QS A4 (2.0kn) 437,492,000 *1.89% 8,269
— Xl = (2.0kn) 269,976,000 +2. 06% 5,562
— EINZE(1.0km) 66,611,0002 +3.02% 2,012
— 2% & % (10kn) 45,010,000%1+3.02% 1,360
03 A& S THHI 5,694 4,834 860
OXIS 3 H A 5,694
— 2 414 (2.0km) 437,492, 00021 +0. 72% 3,150
— QS PENY(1.0kn) 66,611,000 x0.90% 600
— &A= (2.0km) 269,976,000 *0.72% 1,944
AVRITH B 0l 296,283 280,110 16,173
2 39,040
= 11,712
2 245,531




AN AHE =X
B MYAY BHS(SHHSFA/YY - 4E)
CHol MBI Jlua S SiE)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
101 1Al 46,338 46,338 0
= 32,436
=) 9,731
= 4,171
04 JIZtHZ22HEE =+ 46,338 46,338 0
O=HIEx A 46,338
— AtALEHE EZ Ol g & 1,930,750 «4H «6 & 46,338
= 32,436
=) 9,731
a 4,171
201 Let24E] 8,400 8,400 0
= 5,880
=) 1,764
= 756
01 AFR 22l 8,400 8,400 0
O=HIEx A 8,400
— AHAFER S Z O e X2 RH(ICH)
700,000 x6 & 4,200
= 2,940
< 882
s 378
—MARHEE WSS EFFU
450,000& x6& 2,700
= 1,890
< 567
= 243
—MABEENYS ox=
200,000& »4H 800
= 560
< 168
s 72
—AAFERE FOIZ S 2T P2 (HE, o
o s) 700,000& » 14 700
= 490
< 147
= 63
301 et Aa 3z 1,034 1,035 A
= 724
< 217
[ia 93
09 AL HIZE A= 1,034 1,035 A
OZHIEx= A 1,034
— SPAEHE Z OIS WS 0Hl  258,500& x4 H 1,034
2 704
< 217
= 93
308 MtXIEHMSOIH 240,511 224,337 16,174
07 HIXNHMAR2E = 240,511 224,337 16,174




A M=
HE: MNEAY BHSHSYHS /LY - ME)
EHe: ArHAY D|BtE S (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZHIEXZAY 240,511
— AFXIAREE (1ha) 7,290,000 7,290
— APEEER (1000 &) 225,000,000& 225,000
— AbEHEH B (5O A) 3,150,000& 3,150
— AEEAIY EFEA FHOH1HA) 363,000 363
— AFEEX] EZ (2000 A ) 378,000& 378
— APREE EFS AT OF(1000 &) 3,530,000& 3,530
— AbEHEH A2 (2000 A ) 800,000& 800
AZEIRE-AZIE AL 42,816 70,014 N27,198
= 21,408
o= 6,422
= 14,986
101 e1214| 41,816 69,014 N27,198
= 21,408
o= 6,422
= 13,986
04 JI2ZtHIZ22NEES 41,816 69,014 N27,198
O=2HIExZ ALY 41,816
—NMES2HOLM 13,756,000 »2H 27,512
= 14,256
= 4,276
= 8,980
— =2 HE XA 14,304,000 »1H 14,304
= 7,152
= 2,146
= 5,006
301 et A= 1,000 1,000 0
09 SHAIAHI B A2 1,000 1,000 0
O32HEZAY 1,000
—AMELSLYHLMN WS0HH(2Y)
1,000,000& 1,000
AT AIAE 22 33,500 24,960 8,540
401 AlEHIZ 2 0HY| 33,500 24,960 8,540
01 Al& H| 33,500 24,960 8,540
OUTAE 20884 & EHIIIAIY
500,000 *134km*50% 33,500
SHESIHEE =4 1,375,000 1,065,000 310,000
N 1,100,000
& 82,500
= 192,500
401 AlEHIZL 2 0HY| 1,250,000 1,045,000 205,000
Xl 1,000,000
& 75,000
= 175,000
01 Al& b 1,245,500 1,038,700 206,800
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X ZH -
L= B

el
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oY oY Jir

02 02 >
o

T 0x

o o
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!
%
02
4
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)
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M

oz oz
0 QU oo

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXE3 A A 1,245,500
—SN=sHEE =4
1,245,500,000& * 104 A& 1,245,500
Xl 1,000,000
< 75,000
s 170,500
03 Al 2 THHI 4,500 6,300 A 1,800
OXSZ A A 4,500
-SHeAANEE X4
1,250,000, 000& *0. 36% 4,500
402 RI2EX =20l A 125,000 0 125,000
Xl 100,000
< 7,500
s 17,500
01 It 2 AL B X 125,000 0 125,000
OXNS3 A A 125,000
—SMHEGHE 22tAte 125,000,000 * 100 A& 125,000
Xl 100,000
< 7,500
e 17,500
At s¢del x4 17,053,320 0 17,053,320
= 1,000,000
X 2,800,000
< 8,410,000
fia 4,843,320
MElz MEE & (XHH) 453,240 0 453,240
401 Al HI R 201 I 453,240 0 453,240
01 A& HI 450,000 0 450,000
OdHE= MEH X SA 450,000
—dH= HMEHE &X 450,000,000& 1= 450,000
03 Al 2 THHI 3,240 0 3,240
OdE=MEE X SA
450,000,000 *0.72% 3,240
S M MY s XM 8,600,000 0 8,600,000
< 7,100,000
i 1,500,000
401 AIEHI L 2CHEI 8,600,000 0 8,600,000
< 7,100,000
[ia 1,500,000
01 A& HI 8,578,500 0 8,578,500
OEHIEXZAY 8,578,500
2234 NaFYMe 24
8,578,500,000& = 1JH £ 8,578,500
< 7,100,000
e 1,478,500




SN MESXD
HE: MNEAY BHSHSYHS /LY - ME)
SHol: A BB TH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al 20| 21,500 0 21,500
OESHEXZANY 21,500
2234 NNFYWE X4
8,600,000,000& x0.25% 21,500
XANeo = X4 AIY 1,200,000 0 1,200,000
N 600,000
o= 180,000
= 420,000
401 Al HI L 2 0HHI 1,200,000 0 1,200,000
N 600,000
= 180,000
= 420,000
01 A& H| 1,195,680 0 1,195,680
OXESAHAY 1,195,680
— XK &= ZAAY 1,195,680,000& = 14! 1,195,680
Xl 600,000
o= 180,000
= 415,680
03 Al 201 Y| 4,320 0 4,320
OXESAHALY 4,320
— X8 = Z4AY
1,200,000,000& 0. 36% 4,320
SFEAHEE oeg2eldy =4 2,000,000 0 2,000,000
= 1,000,000
= 350,000
= 650,000
401 Al HIZL 2 0HY| 2,000,000 0 2,000,000
= 1,000,000
== 350,000
= 650,000
01 Al&H| 1,992,800 0 1,992,800
O2HIBEZAY 1,992,800
— StANHEE g2 HE
1,992,800,000& x4l 1,992,800
= 1,000,000
= 350,000
= 642,800
03 A2 0HH| 7,200 0 7,200
O=ZHIEZAY 7,200
— A EE ogaedy
2,000,000,000& x0.36% 7,200
M MEIES HESHX =M 4,000,000 0 4,000,000
Xl 2,000,000
= 600,000
= 1,400,000
401 AlEHIZL 2 0HY| 4,000,000 0 4,000,000




SN MESXD
HE: MNEAY BHSHSYHS /LY - ME)
Sl MA BB E4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Xl 2,000,000
< 600,000
e 1,400,000
01 A& HI 3,989,200 0 3,989,200
OXE3 A A 3,989,200
— M ME E3ME @A =4
3,989,200,000& 14 3,989,200
X 2,000,000
< 600,000
s 1,389,200
03 AlE 2 THHI 10,800 0 10,800
OXSZ A A 10,800
— M ME E2EHE ®XA =4
4,000,000,000& *0.27% 10,800
Heget st 5 MEXFR 24 400,000 0 400,000
< 120,000
i 280,000
401 Al HIZ 2018 400,000 0 400,000
= 120,000
e 280,000
01 A& HI 397,120 0 397,120
OZHEXZAY 397,120
— g st 5 MEXF N
397,120,000& 14 397,120
< 120,000
s 277,120
03 Al 2 THHI 2,880 0 2,880
OZHEx= AL 2,880
—HEd g 52 HMEXNP g
400,000,000 *0.72% 2,880
i HHEFAE E2AAMY 400,080 0 400,080
Xl 200,000
< 60,000
e 140,080
401 A& HIZ 201 8] 400,080 0 400,080
Xl 200,000
< 60,000
= 140,080
01 A& HI 397,200 0 397,200
OXS3 A A 397,200
— UM B F
397,200,000& 14 397,200
Xl 200,000
< 60,000
[ia 137,200
03 Al 20 HI 2,880 0 2,880
OXS3 A A 2,880
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2N
X ZH -
L= B

el

Y. B (3H) - HEAY - BES o A o SSa H RS2
— =4 X 2 et
400,000, 000& *0.72% 2,880
8 2 2 737,655 737,655
= 198,886
& 57,264
= 481,505
s 29 el (XHA) 95,978 95,978
Hl 44,018 44,018
H 22 At 44,018 44,018
Eil= oH&D 12,720
=3 44,6403 x2H x100 8,928
54 44,6403 »2H %23 2,054
— 4 EE 10,982,000 *14% 1,538
—28= 50,0003 x2H x23] 200
OMEf= MZ&Y LA 31,298
—-J|I=23 44,6403 *5H x 100 22,320
—F=52Y 44 6403 5 x23! 5,134
—4HEES 27,454,000 *14% 3,844
282 A 37,940 37,940
AP 22| Hl 12,370 12,370
ODNEE2 A LI 150, 000& = 1CH*12& 1,800
O&=x=J| Xt 50,0003 *1CHx12& 600
Ozet= A EYH 7Y 250,000 *4E x23] 2,000
oungt M= sz +¢ 25,000& *3&+103] 750
O3zt&a 2e 88 #+¢ 25,000& *5&x103] 1,250
oMgIsE 1,950& *6000H 1,170
O=di&dot = 20,000& x 155 300
OMz=&gE 100, 000& *53] 500
O&TE ME 100,000& =103l 1,000
OMHEH=ME Ms 2 5,000& *20& *x303] 3,000
329 25,570 25,570
OMHEH= &3 1,300,000& x12& 15,600
Oa+= S8 FHAaH| 300,000& *13] 300
O8gxEHAL =2 13,000& x100ke 1,300
SMIAMI S8 1,685& x1002| E1 x203] 3,370
OMEl= A& S = 5,000, 000& * 14 5,000
ul] 6,500 6,500
Hl 6,500 6,500
MEl= EH 2L 3,500& *x1,000% 3,500
rd 5 2 NEdlE 7€
15,000& * 100 1,500
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SN MESXD
Mo ME - BANOR AXS MEXA(SHLSL/AY . AE)
CHol: AEQlE BYBHSD) (ctel:&2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 191,598
= 86,219
= 201,178
101 21 214| 478,995 443 873 35,122
= 191,598
& 86,219
= 201,178
04 JIZtHIZ22XNSE S 478,995 443,873 35,122
OZHIEZANY 478,995
—NMEF20 XS (60H) 405,000,000 405,000
= 162,000
= 72,900
iy 170,100
—AMEM2HULESIH EE2(60Y)
72,495,000 72,495
= 28,998
= 13,049
= 30,448
—MENH2H LRSI ZESE(6Y)
1,500,000 1,500
= 600
=} 270
= 630
MEXG L XSEH O SHMHSH(XA) 73,700 73,700 0
201 gEt24Hy| 64,700 64,700 0
01 AP 22| d| 64,700 64,700 0
OMERZLAIANAE 29 20,000,000& =14 20,000
Od=AsHX Y SFH| 300,000 2L 10 6,000
Od2dg e & XNSGHH ARE 2
525,000& =8LH 4,200
ONE2HI Mst=E 2 80,000& *150H 12,000
O AN SHtE 1 150,000& x150H 22,500
401 AlEHIZL 2 0HY| 9,000 9,000 0
01 Al&H| 9,000 9,000 0
OM=22012EAI2102F Edl 3,000,000 *3JH0 & 9,000
MEARF L XFHEY S &E 611,562 318,035 293,527
= 175,716
& 79,073
= 356,773
201 et Y| 69,270 72,405 N3,135
= 27,708
= 12,469
= 29,093
01 AP 2t 2] H| 53,410 56,805 A 3,395
OZHIEZANY 53,410
— MEXZ ZAHI(916Y) 5,495,000 5,495
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9,440
4,248
9,912
—MESNESIE Y (504) 20,000,000 20,000
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3,600
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7
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308 AHXIEHHMSO0IE 172,272 157,430 14,842

07 X HH2L RS S 172,272 157,430 14,842
O Y XH(OH & AL ) 167,250,000 10K 167,250
OZHIE= AL 5,022

X5l 0

— M2 eE Ns o HIH(148])

5,022,000 5,022

401 AIEHIZ 2 THYI 270,860 5,000 265,860
108,344
48,755
113,761

Mo H

01 A& dI 268,953 5,000 263,953
O=HIEx A 268,953

eI Z Al Jtollet £X
109,208,000 =100 2 109,208
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2,400
1,080
2,520
—MEASAIE EX 153,745,000 =100 & 163,745
61,944
27,875
63,926
03 Al 2 THHI 1,907 0 1,907
HIE Z ALY 1,907
23tAl4 £X 154,860,000 *0.72% 1,115
S AN 2t & X
110,000,000 *0.72% 792

M

HH A

405 Tttt S 94,200 83,200 11,000
37,680
16,956
39,564

MW

=k 94,200 83,200 11,000
e 94,200
ZHHI (60N E) 30,000,000 30,000
12,000
5,400
12,600
—SHERAI UM (4TH) 3,200,000& 3,200
1,280
576
1,344
— &= AR 51,000,000 *1CH 51,000
20,400
9,180
21,420
— A2 AIAE 10,000, 000& » 14 2 10,000
4,000

1,800
4,200

H HH A

Mo A

MW

=2 A =4 742,000 2,068,000 A 1,326,000

371,000
111,300
259,700

HHlA

401 AIEHIZ 2 I 742,000 2,068,000 A 1,326,000

371,000
111,300
259,700

HHA

01 A& Hl 725,970 2,058,590 A 1,332,620
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Mo ME - BAXNOR AXE MUZH(SUNSI/AY - A=
Sl AEgls BYBIS) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXSEg AHALY 725,970
—HMAZX2AXA A A &S H (9Km)
700,000,000& *3.47% 24,290
— SN2 EH|(1.3km) 42,000, 000& 42,000
N 21,000
& 6,300
= 14,700
—dNMAZ=2X A (9%Km) 659,680,000& 659,680
Xl 350,000
= 105,000
= 204,680
02 2teld| 11,620 0 11,620
OXESAHAY 11,620
—ddAEZ=Z2 2289
700,000,000 «1.66% 11,620
03 AlE 21| 4,410 9,410 A5,000
OXEE AHALY 4,410
—dIdAERZUXYS 700,000,000 *0.63% 4,410
MEES 212,454 277,794 A 65,340
= 117,858
= 24,450
= 70,146
254 el (AHA) 12,000 15,000 A 3,000
401 AlEHIZ 2 0HY| 12,000 15,000 A 3,000
01 Al&H| 12,000 15,000 A 3,000
O aZANE g 2,000,000 *5JH A 10,000
OEXA XA 1,000, 000& *x2JH A~ 2,000
ArStHM S S M CHE X & 200,454 177,594 22,860
= 117,858
o 24,450
= 58,146
101 e1214| 148,234 161,362 N 13,128
= 85,260
o=} 18,581
= 44,393
04 J|12ZtHIZ22NEES 148,234 161,362 N 13,128
OZHIEZAY 148,234
— NMEYHWNS o &2 A
92,520,000 = 1JHf &t 92,520
= 46,260
& 13,567
= 32,693
—AUSRMHAESYE DASH A
55,714 ,000& =11 &+ 55,714
= 39,000
& 5,014
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 11,700
201 L2l 30,924 10,284 20,640
= 21,462
< 2,821
e 6,641
01 At 22l 30,924 10,284 20,640
O=HIEX ALY 30,924
—MEEHNS EHETR 924,000& 174 924
= 462
< 139
e 323
—2URUHESYE DASHH 224
30,000,000& 30,000
= 21,000
< 2,682
e 6,318
401 Al B2 28I 15,750 0 15,750
= 8,363
< 2,216
= 5,171
01 A& HI 15,750 0 15,750
O=HIEXAY 15,750
—EURANE2Y LH=SHH(1ha)
2,200,000& 2,200
= 1,154
= 314
= 732
—EURANESY LM (6ha) 5,970,000& 5,970
= 2,985
< 895
e 2,090
—&d=nel Y (3ha) 2,782,000& 2,782
= 1,720
< 319
= 743
— Uy L (6ha) 1,108,000& 1,108
= 578
= 159
e 371
—JIetg o E A (20ha) 3,690,000 3,690
= 1,926
< 529
s 1,235
405 THabF S| 5,546 5,948 A402
= 2,773
= 832
s 1,941
01 AL = ZFH SHI 5,546 5,948 A 402
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A 1,336,043
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,883,390
,441,695
432,508
,009, 187

3,859,710

A 976,320

101 1Al

HH A

33,708
16,854

5,056
11,798

557,556

A 523,848

33,708,000&

Mo A

33,708
33,708
33,708

16,854
5,056
11,798

557,556

N 523,848

401 AIEHIZ 2 I

Mo R

1

411,282
,205,641
361,692
843,949

2,866,830

N 455,548
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O=tI XAt
— & FRIIAFR (1,200ha) 2,

— I LIS IR IIAF (150ha)

— A2 F Y = (1,000na)
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O=HIExZAY
— =JFRIIAY 22l (1,200ha)
03 Al 2 THHI
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— = I RIIAE (1,200ha)

173,731,000&

179,300,000

15,200,000&

33,897,000&
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1

,368,231
,368,231

173,731

, 107,741
332,322
733,668
179,300

90,300
27,090
61,910
15,200

7,600
2,280
5,320

33,897
33,897
33,897
9,154
9,154
7,854

2,816,156

40,265

10,409

N447,925

N6,368

N 1,255
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402 SI2vXHE0| & 438,400 361,200 77,200
= 219,200
= 65,760
= 153,440
01 QIZEXI2AIE 2 X 438,400 361,200 77,200
O2HIExZ ALY 438,400
— XXl AFE 22| (400ha) 438,400,000 438,400
= 219,200
o= 65,760
= 153,440
BHEH2IE S A X & 95,767 455,490 A 359,723
= 67,910
= 8,357
= 19,500
301 et A= 2,910 2,910 0
= 2,910
11 J|EtE A= 2,910 2,910 0
OZHIEZAY 2,910
WO FOAS AT
161,666& x18ha 2,910
= 2,910
402 BI2H X =20l M 92,857 126,000 N 33,143
= 65,000
= 8,357
= 19,500
01 QIZEXIEAIE 2 X 92,857 126,000 N 33,143
O2HIExZAY 92,857
— S FOUAST R
92,857,000 = 1JH 2 92,857
= 65,000
o=} 8,357
= 19,500
AEI23ID|E B E (2322 /2H) 111,600 139,000 N 27,400
WNASDNEZD =Y 111,600 139,000 N 27,400
FRESHNZE MU AIY 111,600 139,000 N 27,400
201 LBt 9H]| 16,100 5,000 11,100
01 AP 22| H| 8,600 5,000 3,600
OXelasdd EE=2 & 500 =10, 0000H 5,000
ORXICIASHZL CHHAIE AMEEERU(2A2
X E) 300,000 x12& 3,600
02 2224 4| 7,500 0 7,500
OXelaSH Y CHUHAE HII2=(20KW)
600,000 x12& 7,200




AN AHE =X
HE: NYREIIE HE(SHUDY/B)
ol APRITERONE CERED
SN BA(SA) - MRAY - BES il HImEET
OXeldsdd SHHHEH M2l Ald X
HAL3(26 300,000& x13l 300
401 Al HIZ 2018 95,500 134,000 A 38,500
01 A& HI 95,500 134,000 A 38,500
OXelit=d& 1,000, 000& *20km 20,000
OoZU sat=z 5,000,000 *204 2~ 10,000
OS4&tZ QHLH T 1,000, 000& =109 2 10,000
OSHz 24 o)
4,000,000 * 1104 & 44,000
OXlclat=el & =0 &X
11,500, 0002 14 11,500
AHAMOIA I Dz (LEtE S BrelE ) 46,200 0 46,200
AtptA AT FX 46,200 0 46,200
AhptA AT FA 46,200 0 46,200
201 Let24E] 40,000 0 40,000
01 At 2t 2l 40,000 0 40,000
Ottt AR 5 10,000& *2,000% 20,000
Ottt AT 5 Xl =
20,000,000 * 14! 20,000
202 (44l 4,200 0 4,200
01 SLHOIYI 4,200 0 4,200
O=2UHAAZ A& 70,0003 «3H 203 4,200
203 @R =&l 2,000 0 2,000
03 AIMZ=XH 2= H| 2,000 0 2,000
Ottt AR = 200,000& =103l 2,000
HY2AZ Y (A=) (IIEH/IIEL) 91,468 84,036 7,432
Jl234l 91,468 84,036 7,432
JlE&l 91,468 84,036 7,432
201 £B-2dH| 47,938 43,926 4,012
01 At 22l 47,938 43,926 4,012
OFNEA 1,831,000& »23H 42,113
O=UE= A 150,000& = 1CH+12& 1,800
O= &l 7,000 #23H x252 4,025
202 o4dl 39,330 35,910 3,420
01 = LH o4 1l 39,330 35,910 3,420
OZHoHI 80,000 x23H «12& 22,080
O&2 o dl 75,0003 *23H «10 17,250
203 R =&l 4,200 4,200 0
04 RN2EHRF 4,200 4,200 0
ORN2IEYR 350,000& »12& 4,200
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